
NS0-593

NS0-593 Dumps
NS0-593 Braindumps
NS0-593 Real Questions
NS0-593 Practice Test
NS0-593 Actual Questions

NetworkAppliance

NetApp Certified Support Engineer ONTAP Specialist

https://killexams.com/pass4sure/exam-detail/NS0-593



Question: 34

You receive the panic message shown in the exhibit.

In this scenario, which component should you troubleshoot first?
A. the PCI card in slot 3
B. the MetroCluster FC-Vl card in slot 6
C. the memory module in slot 1
D. the CPU

Answer: D

Question: 35

Which two automation methods does NetApp ONTAP Select support? (Choose two.)
A. REST
B. Anslble
C. Docker
D. PHP

Answer: A,B

Question: 36

You have a customer complaining of long build times from their NetApp ONTAP-based datastores. They provided you
packet traces from the controller and client. Analysis of these traces shows an average service response time of 1 ms.
QoS outputconfirms the same. The client traces are reporting an average of 15 ms in the same time period.

In this situation, what would be your next step?
A. The cluster is responding slowly and requires further investigation using performance archives.
B. The client that reports high latency should be investigated.
C. The cluster interconnects should be investigated.
D. A sync core should be triggered.

Answer: B

Question: 37

You are attempting to connect a NetApp ONTAP cluster to a very complex network that requires LIFs to fail over
across subnets.

How would youaccomplish this task?



A. Configure an equal number of UFs on each subnet.
B. Configure VIP LIFs using OSPF.
C. Configure VIP LIFs using BGP.
D. Configure a I IF failover policy for each subnet inside a single broadcast domain.

Answer: C

Question: 38

You notice poor performance on your FlexGroup and execute the system node run -node * flexgroup show command
for more Information. You notice the "Urge" column has non-zero values.

In this scenario, which statement is true?
A. The aggregate is completely full.
B. The constituent volumes are out ofInodes.
C. The data placement is uneven.
D. The constituent volumes are completely full.

Answer: A

Question: 39

After expanding a two-node AFF A300 cluster with two AFF A700 nodes, you observe latencies when data is accessed
indirectly. The system node run -node -command netstat command shows retransmits and packet drops on the LIFs.
The AFF A700 nodes with 40 Gbps and the AFF A300 connect with 10 Gbps to the cluster interconnect. You are
using Cisco Nexus 3132Q cluster interconnect switches. You just updated to ONTAP 9.8 software.

In this scenario, what is causing this problem?
A. The 10 Gbps to 10 Gbps cluster Interconnect is creating a speed mismatch.
B. AFF A300 and AFF A700 node mixing Isnot supported in ONTAP 9.8 software.
C. The AFF A300 Is using an adapter card for the cluster Interconnect, but only onboard ports are supported.
D. There is an NXOS firmware mismatch, verify in the Interoperability Matrix (1MTJ for a supportedversion.

Answer: A

Question: 40

You have a new VMware vSphere cluster with ESXI 7.0U2 hosts. The hosts are connected to a 4-node AFF A400
NetApp ONTAP9.8 cluster with FC LUNs. You have a requirement to identify and follow I/Os from each VM on the
shared FC LUN-backed datastores for troubleshooting purposes.

In this scenario, which VMware feature Is supported by ONTAP software to accomplish this task?
A. Network I/O Control (NIOC)
B. Virtual machine ID (VMID)
C. Storage I/O Control (SIOC)
D. vSphere Cluster Services (vCLS)
Answer: D




